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+2 ACC Mdu Dist. I Revision Jan - 2019 
rhpahd tpil                   20X1=20 
1. (m) nrhj;Jf;fs;     
2. (m) nghWg;Gfs; 
3. (,) & 24>000     
4. (M) ,Ug;G epiyf; Fwpg;G 
5. (,) & 1>50>000   
6. (m) kWkjpg;gPl;L  
7. (,) & 27>100   
8. (M) & 2>00>000     
9. (,)  epjpapay; 
10. (m) epjp jpl;lkpLjYf;F  
11. (M) 3     
12. (m) elg;G fzf;fpy;   
13. (,) cah; ,yhgk;   
14. (m) fiyg;G   
15. (M) nghWg;Gfs;  
16. (M) fld; fzf;F   
17. (,) Mjha tpfpjk;  
18. (m) 3 ehl;fs;    
19. (M) fiyj;jy;  
20. (M) 80>000   
VNjDk; 7 tpdhf;fSf;F tpilasp   7X2=14 
21.thuhf;fld;: fldhspfsplkpUe;J jpUk;g 
ngw,ayhj fld; thuhf;fld;.,J 
tpahghuj;jpw;F ,og;ghFk;. 
22. vwpkjpg;G : xU nrhj;jpd; gadspg;Gf; 
fhyk; Kbe;jgpwF mij tpw;why; 
fpilf;f$ba njhifNa vwpkjpg;G.,jw;F 
,Wjpkjpg;G vd;Wk; ngah;. 
23. ,yhgk; fz;lwpf:          & 
,Wjp Kjy;               12000 
(+)  vLg;G                 2400 
                        14400 
(-)  $Ljy; Kjy;           4000 
                        10400 
(-)  njhlf;f Kjy;          5400 
        ,yhgk;            5000 
24. Nja;khdj;njhif 
                   = ,ae;jpuj;jpd; ma mlf;f tpiy - ,Wjp kjpg;G 
                    gadspg;Gfhyk; 
                      = 500000– 50000 = &45000 
                10 

Nja;khd tpfpjk;    =  Nja;khdj; njhif    x 100 
                    nrhj;jpd; mlf;f tpiy  

                         = 45000 x 100= 9% 
             500000 
25.epiyr;nrhj;J tpw;gidtpfpjk;                                            
                   =        tpw;gid 
                   epiyr;  nrhj;Jf;fs; 
epiyr; nrhj;Jf;fs;   
                            =  epiyr; nrhj;Jf;fs;-Nja;khdk; 
            = 450000-150000    =&.300000 
epiyr;nrhj;J tpw;gidtpfpjk;  
                  = 900000   = 3 klq;F 
                                                   300000 
 
 
 
 

26. Idthpf;fhd nuhf;fj;jpl;lg;gl;bay;                 
                      [dthp & 
njhlf;f nuhf;fapUg;G          9000 
$l;Lf.(ngWjy;fs;)       14000 
                          23000 
fopf;f (nrYj;Jjy;fs;)        10000 
      ,Wjpnuhf;fapUg;G      13000 
27. .vLg;G kPjhd tl;b fz;f;fpLf: 
 Re;jh; vLg;G kPJ tl;b 

      = nkhj;jvLg;Gfs; x tl;b tPjk; x fhyk; 
                         = 24000 x  10 x 11  =&1100           
                     100  24 
 rz;Kfk; vLg;G kPJ tl;b  

       = nkhj;j vLg;Gfs; x tl;b tPjk; x fhyk; 
                        = 48000 x  10 x 13 =&2600 
                    100   24 
28. gioa yhg gfpHT tpfpjk;  =3   :   2 
             gioa gq;F  =3   :2 
                         5    5    

    jpahfk; = 1x 1   :   1 x  1 
             3  2      3    2 
                       = 1    :     1 
            6          6  
Gjpa gq;F= 3- 1:  2 -  1  :  1 
          5  6  5    6    3 
                 =18 – 5  :  12 – 5  :  10 
           30        30      30 
                       =13  :    7  :  10 
            30     30    30 
Gjpa yhg gfpHT tpfpjk; =13 : 7 : 10 
29. 
fhg;G epjp f/F   g     70000 
      A Kjy; f/F            20000 
       B Kjy; f/F             20000 
      C   Kjy; f/F           30000 
30. Kidkj;jpy; ntspapl;ljw;fhd gjpT: 

(40000x13) tq;fp f/F  g 520000 

(40000x10)        gq;FKjy; f/F         400000 

(40000x3)          gj;jpuKidk f/F       120000 

(Kidkj;jpy; ntspapl;lJ Fwpj;J ) 
 VNjDk; 7 tpdhf;fSf;F tpilasp   7X3=21 
31. .rhpfl;L gjpT   
thlif   f/F g           5000 

    Kd;$l;b ngw;w thlif f/F      5000 
(Kd;$l;b ngw;w thlif Fwpj;J) 
$yp   f/F   g           15000 

    nfhLgl Ntz;ba $yp f/F      15000 
(nfhLgl Ntz;ba $yp Fwpj;J) 
Nja;khd  f/F g          3000 

       miwfyd; f/F             3000 
(Nja;khdk; ePf;fpaJ Fwpj;J) 
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32.       nkhj;j fldhspfs; fzf;F 
,Ug;GfP/nfh   20400 ngw;wnuhf;fk;   60800 
                  tpw;gidjpUg;gk; 5400     
fld; tpw;gid 73400   ,Ug;G fP/,   27600             
            93800              93800 
nkhj;j tpw;gid = nuhf;f tpw;gid + fld; tpw;gid 

           = & 56800 + 73400  = & 130200  
33.Nja;khdk; Vw;gl mff; fhuzq;fs; 
1.Nja;T GydhFk;nrhj;Jfis njhlh;e;J 
gad;gLj;Jtjhy; Nja;Tfhuzkhf Nja;khdk; 
Vw;gLfpwJ. 2.cgNahfpf;fg;glhik njhlHe;J 
xU,ae;jpuj;ij gad;gLj;jhky; ,Ue;jhy; mJ 
jd;cgNahfj;jd;ikia ,oe;J tpLfpwJ 
3.guhkhpg;G,d;ik xU,ae;jpuk; rhptu 
guhkhpf;fg;gltpy;iynadpy; mJ jd; 
cgNahfj;jd;ikia tpiuthf ,oe;J tpLfpwJ 
4.ntWikahjy;:Ruq;fq;fs; vz;nza;fpzWfs;  
Nghd;wtw;wpypUe;J fdpk tsq;fis njhlHe;J 
ntspNa vLg;gjhy; mJ jd; kjpg;ig ,of;fpwJ. 
34. jpl;lg;gl;bay; ed;ikfs;: (1)NghJkhd 
nuhf;f ,Ug;ig Ngz cjTfpwJ.(2),J 
Nkyhz;ikf;F gadspf;Fk; tifapy; 
nra;jpfis mspf;fpwJ. (3)epjpj; Njitia 
G+Hj;jp nra;Ak;jpl;lk; jPl;l (4)nuhf;f ,Ug;ig 
fl;Lg;gLj;j cjTfpwJ 
jpl;lgl;bay; jd;ikfs;: 1.jpl;lg;gl;bay; 
vjph;fhyk; Fwpj;J Kd;dNu jahhpf;ff; 
$bait MFk;. 2.,J gzk; my;yJ 
myFfspd; vz;zpf;if mbg;gilapy; 
njhptf;ff;$bait MFk;. 3.,J jpl;l 
,yf;if miltjw;fhd top  
35 mbg;gil jpahf tpfpjk; Mjha tpfpjk; 
1. nghUs; Gjpa 

$l;lhspfSf;F 
jUthjhf 
gioa$l;lhspfs; 
xg;Gf;nfhz;l 
jpahfgq;Ffspd; 
tpfpjkhFk;. 

njhlUk; 
$l;lhspfSf;F 
ntspr;nry;Yk; 
$l;lhspfsplkpUe;J 
ngw;w gq;Ffspd; 
tpfpjkhFk;. 

2. Nehf;fk; cs;tUk; 
$l;lhsp gioa 
$l;lhspfSf;fj; 
jUk; <l;Lj; 
njhifia 
epHzapf;f 
cjTfpwJ.  

ntspr; nry;Yk; 
$l;lhspfSf;F 
njhlUk; 
$l;lhspfs; jUk; 
<l;Lj;njhifia 
epHzapf;f 
cjTfpwJ. 

3. fzf;fpLy; gioa 
tpfpjj;jpypUe;J 
Gjpa tpfpjj;ij 
fopj;J 
fzf;fplg;gLfpwJ 

Gjpa 
tpfpjj;jpypUe;J 
gioa tpfpjj;ij 
fopj;J 
fzf;fplg;gLfpwJ 

4. fhyk; $l;lhsp xUth; 
NrHg;gpd; NghJ 
fzf;fplg;gLfpwJ 

$l;lhsp xUth; 
tpyFk; NghJ 
fzf;fplg;gLfpwJ 

36. ,ae;jpuk; tpw;wjpy; ,yhgkh el;lkh 
tptuk; njhif & 

01.04.12 ,ae;jpuk; 75000 
31.03.13 Nja;khdk; 11250 
01.04.13 ,ae;jpuk; 63750 
31.03.14 Nja;khdk; 11250 
01.04.13 ,ae;jpuk; 52500 
31.03.14 Nja;khdk; 11250 
Vl;L kjpg;G 41250 
tpw;wtpiy 35000 
el;lk; 6250 

37. elg;G tpfpjk; = elg;G nrhj;J  
               elg;G nghWg;G 
= ruf; + fldhsp +nuhf;fl;+Knrnr 
        fldPe;Njhh;    
=  44000+38000+10000+4000      
    48000 
= 96000  =     2 : 1 
  48000 
 ePh;ik tpfpjk; = ePh;ik nrhj;Jf;fs; 
              elg;G nghWg;Gfs; 
       = elg;G nrhj;Jf;fs;-(ruf; +Knrnr) 
             elg;G nghWg;Gfs;  
    = 96000 – 48000  = 48000  =  1 : 1 
          48000       48000 
38. ruhrhp yhgk;            & 
 2001       ,yhgk;     12000 
 2002k; Mz;L ,yhgk;    18000 
 2003k; Mz;L ,yhgk;    16000 
 2004k; Mz;L ,yhgk;    14000  
                      60000 
ruhrhp yhgk; = 60000 = &.15000 
             4 
ew;ngaH = ruhrhp yhgk; x nfhs;Kjy; Mz;L 
       = 15000x3          = &.45000 
39. ew;ngah; f/F   g     50000 
      X Kjy; f/F            30000 
       Y Kjy; f/F             20000 
       

   ew;ngah; f/F   g     20000 
      X Kjy; f/F            12000 
       Y Kjy; f/F             8000 
40. tq;fp f/F     g       1500000 
     gq;Ftpz;zg;g fF         1500000 
  (tpz;zg;gg;gzk; ngwg;gl;lJ) 
 
gq;Ftpz;zg;g f/F   g  1200000           
      gq;FKjy;f/F           1200000  
(tpz;zg;gj;njhif Kjy;fzf;fpw;F 
khw;wg;gl;lJ) 
gq;Ftpz;zg;g f/F   g   300000           
      tq;fp f/F               300000 
(kpif tpz;zg;gj;njhif epuhfhpj;jJ) 
midj;J Nfs;tpfSf;Fk; tpilasp: 7X3=21 
41.m.jpU. fpU\;zdpd; epiyawpf;if 
nghWg;Gfs;           nrhj;Jfs; 
fldPe;Njhh;    25000  tqfp           8000 
nfhLgl Nt nr 1000 ruf;fpUg;G       80000 
,Wjp Kjy;  117500   fldhspfs     50000   
                  miwfyd;      2500 
                  nuhf;fk;         3000 
           143500                 143500       

,yhg el;l mwpf;if : 
,Wjp Kjy;          117500 
$l;Lf:vLg;G           24000 
                   141500 
fopf;f:$Ljy; Kjy;    10000 
                  131500 
fopf;f:njhlf;fKjy;   120000 
      ,yhgk;        11500 
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41.M. 31-3-2002 ehSf;Fhpa ,yhg el;lfzf;F 
g                                 t 
thuhf;fld;  5000 
Iaf;fld;  6000   11000 
js;Sgb xJf;F   2280 
   31-3-2002 f;fhd ,Ug;G epiyf;Fwpg;G 
nghWg;Gfs;           nrhj;Jf;fs;    &           
              gw;gyfldhspfs;    125000   
               (-)thuhf;fld;        5000 
                               120000 
              (-)Iaf;fld;         6000 
                               114000 
                 (-)js;Sgb xJf;F 2280 
                               111720 
42.m. jpUkjp.nyl;Rkpapd;;31.03.2016 ,yhgel;l fzf;F                          
thlif   4500            nkhj;jyhgk;fPnfh119500     
(+)nfhLgl500       5000     
fopT              2500    
Kjy;kPJ tl;b      12000 
fl;blk; kPJ Nja;    10000 
epfu yhgk; fP/,     90000 
                119500                 119500 
jpUkjp nyl;Rkpapd;; 31.03.2016 ,Ug;Gepiyf;Fwpg;G 
    nghWg;Gfs;                nrhj;Jfs; 
fldPe;NjhH        37000  nuhf;fk;           77000 
Kjy;     200000       fl;blk;  (-) Nja;    90000       
Kjy;kPJtl;b12000       fldhsp           73000   
         212000        miwfyd;        10000         
(-)vLg;Gfs;  40000           
         172000       ,Wjpr;ruf;fpUg;G      50000   
(+)epfuyhgk; 90000 262000  
nfhLglNtz;bathlif 500  
mehkj;J fzf;F     500 
               300000                  300000 
42.M. tpahghu ,yhg el;l fzf;F 
njhlf;fr; ruf;fpUg;G   …..   fld;tpw;gid200000  
fld;nfhs;Kjy    ;225000  (+) nuhf;fk; 100000 300000                                                                                   
                        ,Wjpruf;fpUg;G   35000 
nkhj;jyhgk; fP/,    110000 
                  335000               335000 
miw Nja;khdk;     10000 nkhj;jyhgk;fPnfh  110000 
mspj;js;Sgb       35000   
epfuyhgk;           65000                        
                  110000               110000 

,Ug;Gepiyf;Fwpg;G 
    nghWg;Gfs;                nrhj;Jfs; 
Kjy;     100000             nuhf;fk;      43000 
(+)epfuyhgk65000           fldhspfs;     75000 
         165000          miwfyd;100000 
(-)vLg;Gfs;  50000 115000    (-) Nj     10000 90000 
fldPe;NjhH       78000      ,Wjpruf;fpUg;G 35000 
kidtpaplk; fld; 50000 
              243000                  243000 
 
43.m. 

epiy Kjy; fzf;F 
            mgpe ml;r            mgpe ml;r  
,Ug;G fP/,   90000 70000 ,Ug;G fP/nfh 90000  70000 
 

elg;G fzf;F 
            mgpe ml;r            mgpe ml;r  
vLg;G        12000 9000    
vLg;GkPJtl;b    400  300  Cjpak;      12000   ---
       fopT        ---   6000 
                       ,yhggq;F    6000 4000 
                      Kjy;kPJtl;b  5400  4200  
,Ug;G fP/,  11000  4900  
            23400 14200           23400   14200  
 

khWgLk; Kjy; fzf;F 
            mgpe ml;r            mgpe ml;r  
vLg;G        12000 9000 ,Ug;G fP/nfh 90000  70000 
vLg;GkPJtl;b    400  300 Cjpak;      12000   ---
       fopT        ---   6000 
                       ,yhggq;F    6000 4000 
                      Kjy;kPJtl;b  5400  4200  
,Ug;G fP/,  101000  74900  
            113400 84200            113400 84200 
43.M. 
g.              ,ae;jpu f/F            t. 
ehs;  tptuk;   njhif ehs; tptuk;  njhif 
1-4-01 tq;fpf/F    200000  31-3-02Nja;khdf/F 30000 
                      ,Ug;G fP/,       170000 
                200000                 200000 
1-4-02 ,Ug;G fP/nfh 170000 31-3-03Nj25500+4500  30000 
1-10.02 tq;fp       60000  ,Ug;G fP/,      200000 
                230000  (144500+55500)    230000 
  
               Nja;khd fF 
31-3-02,ae;jpu f/F  30000   31-3-02 yhgel;lf/F 30000 
                30000                   30000 
31-3-03 ,ae;jpu f/F 30000    31-3-03yhgel;lf/F 30000 
                30000                   30000 
44.m.2006 [Pd; [Piyf;fhd nuhf;fjpl;lg;gl;bay; 
tptuk;                   [Pd;     [Piy       
njhlf;f nuhf;fapUg;G    400000     580000     
(+)nuhf;f ngWjy;fs;       
fld; tpw;gid          510000     600000  
,ae;jpu tpw;fglTs;sJ            100000  
nkhj;jnuhf;fngWjy;fs;   9100000   1280000  
(-)nuhf;fnrYj;Jjy;fs; 
nuhf;f nfhs;Kjy;        300000   340000    
nryTfs;                30000    3600    
nkhj;jnuhf;fnrYj;Jjy;fs;  330000  376000  
,Wjpnuhf;f,Ug;G        580000    904000    
44.M. nkhj;j yhgtpfpjk; = nkhj;j yhgk; x 100 
                          tpw;gid 
 nkhj;j yhgk;= 40000 x 100    = 25% 
             160000 
  epfu yhg tpfpjk;      = epfu yhgk; x 100 
                       tpw;gid 
                     = 16000 x 100 = 10% 
                      160000 
,af;f ,yhg tpfpjk;  
=epfu,yhgk;+,.;rhh;gw;wnryTfs;- ,.rhh;gw;wtUtha; x100 
                       tpw;gid 
=16000+4000+4400-400 x 100   =  24000 x 100 = 15%        
      160000                160000      
45.m. ,yhg el;l gfpHT fzf;F 
ehs;  tptuk;   njhif ehs; tptuk;  njhif 
Kjy;kPJtl;b A12000      epfuyhgk; fPnfh   75000 
           B 9000  21000 vLg;GkPJtl;b A 600 
Cjpak;  A 10000                    B 450 1050 
        B 10000        20000  
fopT A              1050 
,yhgk; Kjy; 
fzf;fpw;Fkhw;wg;gLtJ 
                 A 20400 

               B 13600    34000                                                . 

                                     76050                                     76050 
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45.M. g     kWkjpg;gPL fzf;F             t 
ruf;fpUg;G        8000       epyk; fl;blk;   30000 
miwfyd;        5000 
Iaf;fld;        3000 
nfhLglh gOJ nr 4000 
kWkjpg;gPl;Lyhgk;            KjyPLfs;     10000 
          X   15000               fldPe;Njhh;     5000  
         Y     10000    25000    
               45000                    45000  
 
46.m. 
(3000X100) g.Kjy;f/F g. 300000  
 (3000 X50)    g.xWg;gpog;G f/F         150000        
(3000 X30)    gq;F KjyhtJmiog;G f/F 90000 
 (3000 X20)    gq;F ,Wjpmiog;G f/F   60000 
  (xWg;gpog;G nra;ag;gl;lJ Fwpj;J) 
         tq;fp f/F  g.   160000 
    gq;FxWg;gpog;Gf/F g.    40000   
                 g.Kjy;f/F        200000 
  (kWntspaPL nra;ag;ggl;lJ Fwpj;J) 
  gq;FxWg;gpog;G f/F g    60000 
         Kjypd fhg;G  f/F       60000 
  (kWntspaPL ,yhgk; Kjypd fhg;Gf;F khw;wpaJ) 
46.M.         Kjy; fF 
        X        Y        Z                          X       Y          Z                      
,e 6000 4000 2000,Ug;GfPnfh 45000 30000  15000                       
nuhf;f         5000 ew;ngah;   24000  16000  8000 
fld; f F     17100 kWkjpg;gPL  3300   2200  1100 
,.fP./,66300 44200 --    
     72300 48200 24100        72300 48200 24100 
47.m. 

,Ug;Gepiyf;Fwpg;G 
    nghWg;Gfs;            nrhj;Jfs; 
fldPe;NjhH      57000 fl;blk;      120000 
nfhLgl nghWg;G  5000 ruf;fpUg;G     21500 
nr.kh.rP.        20000 ew;ngah;       40000 
tq;fp fld;     60000 miwfyd; 60000 
Kjy; f/F          (-) Nj     6000 54000 
rq; 134750            fldhsp 72000 
ry{  58250                          (-) Ia   2500 69500 
rhy 50000         243000  nuhf;fk;       55000 
                  ,ae;jpuk;      25000             
            385000             385000 
47.M. 
uhIh uhzp  epWkj;jpd; VLfspy; 
Fwpg;Ngl;Lg;gjpTfs; 
ehs;      tptuk;        gw;W&   tuT & 
tq;fp f/F     g       15000000 
     gq;Ftpz;zg;g fF         15000000 
  (tpz;zg;gg;gzk; ngwg;gl;lJ) 
 
gq;Ftpz;zg;g f/F   g  15000000           
      gq;FKjy;f/F           15000000 
(tpz;zg;gj;njhif Kjy;fzf;fpw;F 
khw;wg;gl;lJ) 
 
gq;F xJf;fPL f/F  g   2500000  
 
   gq;F Kjy; f/F           1500000 
   gj;jpuKidk f/F          1000000 
(gq;FfSf;F xJf;PL gzk;  
kw;Wk; gq;F Kidk njhif ngwNtz;baJ ) 

 
tq;fp f/F   g        2500000 
    gq;f xJf;fPL f/F         2500000 
(xJf;PL gzk; kw;Wk; gq;F  
     Kidk njhif ngw;wJ Fwpj;J) 
gq;FKjy; miog;Gf/g   1000000 
      gq;FKjy; f/F         1000000 
(Kjy;miog;G njhif ngwNtz;baJ) 
tq;fp f/F   g        1000000         
   gq;FKjy; miog;G f/F    1000000 
     (Kjy; miog;G njhif ngwg;gl;lJ) 
gq;F,Wjpmiog;gf/F  g 1000000 
      gq;FKjy;f/F         1000000 
(,Wjp  miog;G njhif ngwNtz;baJ) 
tq;fpf/F       g     1000000 
      gq;F,Wjpmiog;g f/F  1000000 
(,Wjp  miog;G njhif ngw;wJ) 
 


